Multiply decimals by negative powers of ten

2437.6 < 0.001 =

5279.3 x0.001 =

3881.3 x0.001 =

3915 x0.01 =

6654.6 x 0.0001 =

9013.9 x 0.0001 =

7320.7 x 0.01 =

3641 x 0.0001 =

4406.1 x 0.1 =

1582 x 0.1 =

Date: Score:

5702 x 0.0001 =

2344 % 0.0001 =

9990.3 x 0.01 =

1557.2 x 0.0001 =

3973.3 x 0.0001 =

4116 < 0.01 =

5418.3 x0.01 =

3058.4 x 0.0001 =

1907.2 x 0.0001 =

7062.4 x 0.0001 =
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Multiply decimals by negative powers of ten

2437.6 x 0.001 = 2.4376

5279.3 x0.001 = 5.2793

3881.3 x 0.001 = 3.8813

3915 x0.01 = 39.15

6654.6 x 0.0001 = 0.66546

9013.9 x 0.0001 = 0.90139

7320.7 x 0.01 = 73.207

3641 x 0.0001 = 0.3641

4406.1 x 0.1 = 440.61

1582 x 0.1 = 158.2

Date: Score:

5702 x 0.0001 = 0.5702

2344 x 0.0001 = 0.2344

9990.3 x 0.01 = 99.903

1557.2 x0.0001 = 0.15572

3973.3 x0.0001 = 0.39733

4116 x 0.01 = 41.16

5418.3 x0.01 = 54.183

3058.4 x 0.0001 = 0.30584

1907.2 x 0.0001 = 0.19072

7062.4 x 0.0001 = 0.70624
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